William Swanson (TA)

110B Section0A WINTER 2015
Strongly Strongly
Enrollment 62 Agree | Agree | Neutral | Disagree|Disagree % % _
% responding 44% N Agree | Disagree| X
1. The TA presents material in a clear and 19 6 2 0 0 7 9% %
organized manner.
2. The TA speaks audibly and communicates 20 5 2 0 0 o7 3% %
effectively. g ’
3. The TA stimulates discussion in sections. 17 5 2 2 0 6 85% &%
4.The TA is responsive to questions. 2 4 2 0 0 % oa% 0%
5. The TA is punctual for sections and office 21 4 0 1 0 % 6% %
hours.
6. The TA is available and helpful to
21 2 1 1 0 25 9
students during office hours. 2% 4%
7. The TA is responsive to difficulties
students have in understanding the 2 3 ! ! 0 z 3% 4%
8. The grading was fair and timely. 19 3 5 0 0 x 81% 0%
9. This discussion section was a good 19 3 3 2 0 27 81% % 44
educational experience.
10.Overall, the TA did a good job in this 18 6 3 0 0 7 89% % 46
course.
1.
12.
13.
14.
15.
16.
17.
18.
19.
20.
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